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Series Test — 2 A
PHYSICS - 2000 ayails
Qn.no Value points Score
Section A
1 Scattering /aNaveemo 1
2 Nuclear energy /m 138 pvd@ERo 1/2
Brown energy, others are Green energy/@enmend agmad2), 008301 W3 agymB. o
(a001c®I32220)
3 Between P and F/ P o830 F avo snswl@d 1
4 Power / a10id 1
Section B
5 a) AU - Incident ray /a1m® 0w 1/2
r - Angle of reflection/ @®aimm e806m }/ 2
b) 40°
6 a) Red /sja1af 1
b) Complete circle / aydem Qomo 1
7 b, c 1+1
8 a) Optic centre / @J&u001d GH@Bo 1
b) Focal length / ganoeomy” goo 1
9 a) Myopia (Near sightedness) / @oau gasfl 1
b) Hyper metropia ( Long sightedness) / 31@ae1 gasf) 1
10 a) Domestic LPG produces an odour since ethyl mercaptan is added as an 1
indicator to detect gas leakage / ©03a018 LPG ©01@3 alom@ajoda)
®1@12J01WIMWB MVOOD@3 AR Ja QM HLIGODAND HBHINE” AEMNAENIHs0.
b) Examine the rubber tube at regular intervals, Turn on the knob of stove only 1/2+1/2
after the regulator is turned on. Or any two / oenid s 501" DS9910S
al0160IWIE8EH, HOLERIQB BIEMISH VMM GUdaHo AI@o TND BIEMIBBD:.
@ROLID 103 a@O®Enejo @MNE6Mo.
Section C
11 Convex mirror/ | Image is always diminished, Rear view mirror/
EIMOAIG” erect and virtual/ @®lenflosnio | O1@@ aiy alod
B@qJemmo af)L10BYIYo & 2IWo, MAIBGANDo, 1/2X6=3

I ITal{wlnlolof (] Feir I

Plane mirror/
amvo®mel Bdalemo

Image is always erect, virtual and
same size that of the
object/ @y@eniomio agelocogo

For observing face/
f6o GMISBINIM”

,NAIBMDo, A0y, m(rgoﬂemg
@RE® Qle)a|0Jn0 a0

Concave mirror/
CHI6MIBHHQI”

B3@qJemo

Enlarged and erect
image/@J®lsnfosnio Madan®o
ale|®o

Shaving mirror/
Gaaflowd” 210Ad




12 a) Medium 1 / mowymo 1 1
When optical density increases the refracted ray bends more towards
normal / @J&000 AVO@B® &SI INMIVE] 2]’ @RAINIBODM &16Mo LloMIGTMIS” 1
&ZSOLINW] BRSHSAM.
b) Medium 1/ mowymo 1 1
13 a) Completed ray diagram / oJ3oo1@o#61®@ coaI0 all@o 2
b) Same size of the object, real, inverted — any two / QIRNeg GRE® Alejalo, ey
+
LOIBMN0, DE! H1PIVD - aBOMEL]LJo POEN6INo.
14 a) Violet / aioeig” 1
b) As the size of the particle increases, the rate of scattering also increases./
HEMEBBOS Qleja]o SFAMMDIMMAVA14]” AlTVEEMOJo &G0 1
) Red has greater wavelength and scattered less. / ajaia I0” ®@@oneosadeelyo 1
SHSOLINV®IMIGE AlaVEMo FOQIEN.
Section D
15 a) Definition / m@qjaimo 1
b) The ray reflected to the same medium. / @J&000 AUY] BRE® MIWINODHICLIGE” )
@O (@JD a1 H630M0.
Total internal reflection / ay@emoame @@lalmmMo 1
¢) Medical field —~ Endoscope/afl&;1on0 eowom= agf)Beawdoavesoq|,In the
field of telecommunications — Optical fibre cables./andomo almla® eowom= 172+172
BaiG1H9@3 HOaNMIB BHMNB)HUI
16 a) Judicious utilisation of energy. Maximum utilisation of solar energy. Making
use of public transportation as far as possible, Timely maintenance of machines.
OR any four / 932220 QIMINa000W] 9alcIWT BB, MDEOIAR0 1/2X4=2
a10200IW] DalEWIN SO, HaldD® WI@I MVDHHOY6EBUD aload0IW]
(@JCVWIRMO SOV, WADEBRUY WLOITVAWO BRYH:Qa oMU MSOD b,
@ROLIE 1T aFO®EsTRJo MIOLIENO.
b) Energy produced from natural resources and that does not cause
environmental pollution./ @Jg®1s8” MemeRam 93222 QYOO INGE3 alam” 1
al@lave 0ellNldhoemMo DMBIGING M1BIN1H80M HDABRo.
Eg: Solar energy / cvmeood=e2o, Tidal energy /caieNewod=eo, Wind mill / 1/2+1/2
£0Q0s] Or any two
17 aju=-10cm, f=- 6 cm 1/2+1/2
b) v= uf/u-f 1
=-10X -6 172
-10 -(-6)
=60/-4 =-15cm 1/2
c) m= -v/u 1/2
=-(-15)/-10=-1.5 1/2




O |Rlo - Physics ( Answer key)

Q. No | Value points score
Section A

1 Any correct answer 1

2. Red/syaiaf 1

3. water/=elo 1

4. 7 1

Section B
5 a. carbon /@93en1em 1
b. coal tar/es903s03, coal gas/ esaudwiomy; coke/esass, ammonia /@eendsmlw(any two) )
6 a. scattering /aflavosmo 1
b. During sunset ,light travels long distance through the atmosphere and colours of shorter wave
length will be lost due to scattering .Then red light having highest wavelength and least 1
scattering reaches the observer and sun seems red.-o23@onpaweBRE@3
(@JB0U00ERADATHHON DS &GO TG00 MVERATABAN. DVoWOHBALIY0 HOND QIBNEBBUIHS
aflarvemoe MoRANB8&:Qo@PoWeRNBABLIYo &S1Wajdla | MO1eHUNHOM @6@1@80@)@@;@30@31@301@.

7 a. Correct definition 1

b. endoscope, Optical fibre cable-agmdewoeayiqal;B3aigleocd OOanmIA o MN8Hu3 1

8 sereen (n_)“@ﬂqﬁ 7x4=2
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9 a. Real and inverted /@J®enilosio @INIABLO0J0 ®eId19oo b, Hi= mh,, 1
=-2*10 1
=-20

10 a. Convex mirror 6160”33 jemo b. Erect and virtual/maidanay,aliny 1

5+14
Section C
11 a. Butane /eni JRERy 1
b. 1.Switch off the regulator and shift the cylinder to an empty space./#00eeIQ3 82ar0” 0 .a1Q” )

avlelenzd @RS TLOLIGOD AR 200,

2.Keep the windows and doors open./aln@lejdgo RMejdgo @OMIGH.




12 1.Persistence of vision/afléuemaudlom- Newton’s colour disk/m égmg; Q136 IMICo@1@I@EmMIud | 1
OAUSODOW] 5N |FMO. }
2. Dispersion of light/@J®13emmo- Rainbow/waﬂ%motﬁ;m
3. scattering/aflaveemo - The sunlight reaches class room/goa” @elaoss1@3 ayole0000
of)@O0.
13 \ a. convex/e:oendenidy’ oelnday’” 1
=]
2F, [ o] —E b.
,»\%\L Vix4=2
14 a. Concave/es0mdeaai’b. Convex/esomianalgy’ c. Convex/cs»0emianldy” leach
Section D
15 a. Same size, Erect, real-@ncm aigjajo, ®e1a:1900®); @L00A@L06 2
b.1 1
c. How many times the image is larger than the object/aiagalon 92©oeo® @REaIGH 2] 1
@®1mnfomIom]OHd 2V af)(@ ASEBBIEM
16 a. Increasing demand and deceasing availability/9mdzomlend  @raIcyeB:®@eel aIdwmajo 1
9VAROWOM LIZYOWVILIBSR &:00)o 1
. . . e 2
b. population explosion , industrialization-zmavoaiioaIdwmal, @ @ AI® B:06mo
c . Any four
17 1.-25cm leach
2. +100cm
3.+25cm

4.-4cm
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